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( نقاط 5)  :السؤال الراتع

 
    

 
 

R1R2
 

............................................................................................................................. .............................

 

......................................................................................................................................................... 

 

 

 

 

 

              

الحسام 

 اللوى

(  1) الحسام الأول 

 الرقن الأول
(  2) الحسام الثاني 

 الرقن الثاني

(  3) الحسام الثالث 

 الضــــارب

(  4) الحسام الرابع 

 التفاوت الوسووح به

  20   1 0 0 أسود

  1  10 1 1 بني

  2  100 2 2 أحور 

 - 1000 3 3 برتقالي

 - 10000 4 4 أصفـر

 - 100000 5 5 أخضر

 - 1000000 6 6 أزرق

 - 10000000 7 7 بنفسجي

 - 100000000 8 8 رهادي

 - 1000000000 9 9 أبيض

  5  ( 10/1)  0.1 - - ذهبي

  10  ( 100/1)  0.01 - - فضي

 

  ( 4)  الحسام ( 3)  الحسام ( 2)  الحسام ( 1)  الحسام

   ذهبي أحور اسود بني

 ................................................................ = R1 

  فضي أحور أحور بني

..................................................... R3 = 

  ( 4)  الحسام ( 3)  الحسام ( 2)  الحسام ( 1)  الحسام

   
 

 
R1= 3400  ± 10% 

   
 

 
R2 = 210000  ± 5% 
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